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5. Melissa 15 13 vears old.
Becky is 12 years old.
Damiel s 10 years old.

Melissa, Becky and Daniel share £28 in the ratio of their ages.
Becky gives a third of her share to her mother.

How much should Becky now have?

(Total 4 marks)
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11. Peter, Tarish and Ben share £354

Tarish gets three times as much money as Peter.
Ben gets twice as much money as Tarish.

How mach money does Ben get?

{Total 3 marks)
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3.



7. Amnma and Ball share £40 in the ratio 2 : 3

Work out how much each parson gets.

(Total 3 marks)




